NAME DATE _._. - _ PERIOD

Chapter 3 Test, Form 2A SCORE

Write the letter for the correct answer in the blank at the right of each

question.

1, Find the sum of the measures of the interior angles of a convex 45-gon. .
A. 8100 B. 7740 C. 360 ‘ D. 172

2. Find x. . 2.

AL 30 B. 66 (2 + 10}

C. 102 D. 138 e 407

3. Find the sum of the measures of the exterior angles of a convex 39-gon, 3.
A. 39 B. 90 C. 180 D. 360

4, Which of the following is a property of a parallelogram? ‘ 4.

A. Each pair of opposite sides is congruent.
B. Only one pair of opposite angles is congruent.

C. Each pair of opposite angles is supplementary.
D. There are four right angles.

5. Find m /1 in parallelogram ABCD. B C o
A. 60 B. 54 “
a  C3® ’ | D.18 AN

6. ABCD is a parallelogram with diagonals intersecting at £. If AE = 3x + 12 6.
and EC = 27, find x.

Assessments

A5 B. 17 C. 27 D. 47

7. Find x and y so that this quadrilateral is {2x+ 30)3 7
a parallelogram. : 1y 12
A x=13,y=24 B.x=13,y=6 STt
Cx=7,y=24 Dx=7y=86 _

8. Find x so that this quadrilateral is a parallelogram. X + 60 8.
A1z B. 24 / '
C. 36 D. 132 (125

9, Given A(S8, 2) B(6, —4), C( 5, —4), find the coordinates of D so that ABCD 18 9
a parallelogram.

_ A, D(-5,2) B. D(-3, 2) C. D(-2,2) D. D(—4, 8)
\ 10. ABCD is a rectangle. If AC = 5x + 2 and BD = x + 22, find . 10.
| A5 B. 6 C.11 D. 26
11. Which of the following is true for all rectangles? 1.
A. The diagonals are perpendicular. '
9 B. The diagonals bisect the angles.

C. The consecutive sides are congruent.
- D. The consecutive sides are perpendicular.
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NAME s DATE —  PERICD

‘ Cha‘pter 8 TESt, Form 2A (continued|

12. ABCD is a rectangle with B(—4, 6), C(—4, 2), and D(10, 2). Find the 12,
coordinates of A. '

A A6, 4) B. A(10, 4) C. A2, 6) . D.AQ10, 6)

18. Find m~1 in thombus GHJK. . G Ho 13 |
A. 22 , ' B. 44 )/
C. 68 | D.90 p 7

14. The diagonals of square ABCD intersect at E. IfFAE = 2x + 6 and 14,
BD = 6x — 10, find AC.
AL 11 B. 28 C. 56 D. 90

15. ABCD is an isosceles trapezoid with A(10, —1), B(8, 3), and C(—1, 3). Find the 15.___
coordinates of D.

A.(-3,-1) B {(—10, —11) C.{(-1,8) ‘D. (-3, 3)

16. For isosceles trapezoid MNOP, find m /. MNP. N v o 6.
A. 44 ‘ B. 64 ‘
C. 80 | D. 116 M@‘P :

17. The length of one base of a trapezoid is 19 inches and the length of the 17. {
median is 16 inches. Find the length of the other base. . :
A, 35in. B. 19 in, C. 17.5 in. D. 13 in.
18. EF is the median of isosceles trapezoid ABCD B c : 8.
Find x. =/ : \N/— 72
A. 2x — 46 B. 32 x—=20
A A

C. 46 D. 68

19, What type of quadrilateral has vertices at (0, 0), (a, b), (¢, &), and (¢ + a, 0)? 19,
A, parallelogram B. rectangle
C. rhombus D. trapezoid

20. To prove that the diagonals of a rhombus are perpendicular to each other, you 20.___-
- would position and label a rhombus on a coordinate plane and then find
which of the following?

A. measures of the angles B. slopes of the diagonals
C. lengths of the diagonals D. midpoints of the diagonals



bases : kite : o rectangle : square ' |
diagonals median thombus trapezoid
" |- isosceles trapezoid . parallelogram

#=x  Choose from the terms above to complete each sentence.

21. A quadrilateral with only one. pair of opposite sides parallel 21.
and the other pair of opposite sides congruent is a(n)

22. A quadrilateral with two pairs of opposite sides parallel is a(n) 22.
?

2.3 A quadrllateral with only oneé pair of opposite SIdes parallel is 23.
afn) __? .

24. A quadrilateral that is both a rectangle and a rhombus is a(n) 24.
? ) -

25.

25. A quadrilateral with four cengruent gides is a(n)

'26 A quadrilateral with four right angles is a(n) 26.

27. A quadrllateral with two pairs of congruent consecutive sides 27.

- is a(n)
- 28. Segments that join opposite vertices in a quadrilateral are -28.
R - called '
2,9 The segment Jummg the m1dp01nts of the nonparallel 51des of 29
. a trapezoid is called the ___? - ‘
H0. The parallel sides of a trapezoid are called the 30.
For Questions 3|~3] , write frue or false.
3‘. A rectangle is always a parallelogram. ‘ , _ 3\
32. . The diagonals of a rhombus are always perpendicular. 32.
33, The diagonals of a square always bisect each other. 33.
AU, A trapezoid always has two congruent sides. : | 3"’ : -
55. The median of a trapezoid is always parallel to the bases. 35

3(0_ A quadrilateral with vertices (a, 0), (b, ¢), ( b c), and( a, 0) 3’0
is-an isosceles trapezoid. .

3'] _If the diagonals of a parallelogram are perpendlcular then the Sr]
parallelogram is a rectangle. ,

Bonus In parallelogram ABCD, AB = 2x — 7, BC = i + 3y, B:
CD=x+y,and AD = 2x —y — 1. Find x and y.




Write the letter for the correct answer in the blank at the r1ght of each
question.

' 1 Find the sum of the measures of the interior angles of a convex 45-gon.

@54\}5\% A. 8100 B. 7740 C. 360 . D72

2. Find x. }Q%—‘}{‘ 2@_%2%% %Ki@@ """

gt
AL 30 e B 66 (2% + 10)° _
C. 102 Mo ® =S D. 138 (x+40F° .

3 F
Fom wlg

¥

3. Find the sum of tfle 'measures of the e“{ermr angles of a conve&39~g0n

A. 39 ' B.9%0 C. 180 T3¢

4, Which of the following is a property of a parallelog‘ram‘?
A. Each pair of opposite sides is congruent,
7 Only one pair of opposite angles is congruent.
C. Each pair of opposite angles is supplementary.
/)9 There are four right angles.

NAME Kﬁéj DATE_ . . __. PERIOD

Chapter 8 Test, Form 2A SCORE

LB

5.

5. Find m /1 in parallelogram ABCD. S : . 5/ —
A. 60 'pcwo\\\e\ \me,% cut B. 54 12;°
C. 36 b}ﬁ Yore Foe ﬁ'\l‘g‘ i“\:lf -‘D- 18 o a° o,
L{)&W b

6. ABCD is a parallelogram with dlagonals intersecting at E. If AE = 3x + 12
and EC = 27, find x.

OxHET B. 17 C. 27 D. 47
2 = Efﬁ , . . . _
A=D1 Find x and y so-that this quadrilateral is (2x + 303

TS . 3
Yohy a parallelogram. 1y

(y—1i2y -

A x=13y=24 B.x=13,y=6
Cx=T,y=24 Dx=Ty=86

8. Find x so that this quadnlateral isa parallelogram 2x + 60y
- AV12 , B. 24 / /
) - (Ax— 12
C. 36 D. 132

9. Given A(8, 2), B(6, ~4), C(;B, —4), find the coordinates of D so that ABCD is
~ a parallelogram. -

A. D(-5,2) B. D(-3,2) C. D(-2,9) D. D(~4, 8)

“(5x - g)°

10. ABCD is a rectangle. I AC = 5z + 2 and BD = x + 22, find x.
A5 ~ B.6 €11 D. 26

11. Which of the following is true for all rectangles?
A. The diagonals are perpendicular.
B. The diagonals bisect the angles.
C. The consecutive sides are congruent.
" D. The consecutive sides are perpendicular.

0. 1)
10. 0

wD
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NAME : DATE __ PERIOD
' Chapter 8 Test, Form 2A (continued) ' | [

12. ABCID)is a rectangle with B{—4, 6), C(—4, 2), and D(10, 2). Find the 12, D__
coordinates of A, '
A A6, 4) - BLA(10,4) C. A2, 8) , D. A(10, 6)

13. Find m 4.1 in rhombus GHJK. ‘ G H .
A. 22 - ‘ - B. 44 _ |
C. 68 | | D.90 « / .
14. The diagonals of square ABCD intersect at E. IfAE = 2x + 6 and 14. i..z
BD = 6x — 10, find AC.
A 117 B. 28 ~ C.56 - D.90

15. ABCD is an isosceles trapezoid with A(10, ~1), B(8, 8), and C(—1, 3). Find the 15. ﬁ ‘
coordinates of D, :

A (=3,-1 . B. (=10, -11) C. (-1, 8) D.(-3,3)

16. For isosceles trapezoid MNQOP, find m £ MNP.

N o 16. E )
A 44 | B. 64 D‘ ~
C. 80 ‘ D. 116 w A :

P
17. The length of one base of a trapezoid is 19 inches and the length of the 17. E ' ‘f
median is 16 inches. Find the length of the other base. :
A.35in. B. 19 in. C. 17.5in. D. 13 in.
18. EF is the median of isosceles trapezoid ABCD. B c ~ 18. j;%;
Find x. ' =/ - \&— 72
A 2x — 46 B.32  «x-20 . \
A \p

C. 46 D. 68

19. What type of quadrilateral has vertices at (0, 0), (a, b), (¢, b), and (¢ + a, 0)?
A, parallelogram ' B. rectangle
C. rhombus D. trapezoid

20. To prove that the diagenals of a rhombus are perpendicular to each other, you
would position and label a rhombus on a coordinate plane and then find
which of the following? '

A. measures of the angles B. slopes of the diagonals
C. lengths of the diagonals D. midpoints of the diagonals



isosceles trapezoid . parailelogram

| -bases . kite - : rectangle . square ' |
diagonals median rhombus trapezold

Choose from the terms above to complete each sentence.

21. A quadrildteral with only one pair of opposite sides pa.rallel 1. .lﬁDS{ﬁ}.ﬁD Tm{ﬁféﬁ@éd

and the other pair of opposite sides congruent is a(n)

22. A quadrﬂateral with two pairs of opposite sides parallel is a(n) 22. %}7{&“@%@5}? AT
? | : A

2.3 A quadrﬂateral with only one pair of opposite sxdes pa.ralleI is 23 T‘fﬂm&@ 'K§

‘a(n)

24. A quadrilateral that is both-a rectangle and a rhombus is a(n) 24.
? . -

25. A quadrilateral with four congruent sides is a(n)

-%6. A quadrilateral with four right angles is a(n)

47. A quadrilateral with two pairs of congruent consecutlve sides 27.

is a(n) ?

28, Segments that join oppos1te vertices in a quadrilateral are -28.

called __ ¥

2,9 The segment Jomlng the Imdpomts of the nonparellel 81des of 29.

- a trapezo1d is called the _ 7

wﬁ

ﬁﬁu&{@

25.

26.

Aicoonals
N

nedion -

_ 30. The parallel sides of a trapezoid.are called the A0. baﬁig
For Questions 3}-3] , write frue or félse. ,
al. A rectangle is always a parallelogram. ‘%Y e
52 .The diagonals of a rhombus are always perpendicular. 32. %WYU@
33, The diagonals of a square always bisect each other. ‘ 33 r U
‘AU, A trapezoid always has two congruent sides. 2. ?OLES@, “
ap . _ A

35, The median of a trapezoid is always parallel to the bases. 35. hi—?“ Ve

% ﬁ(’q{qd?f at ra_l e/;ﬂ{,}f%{er*l:lces Aa, OJ (b c) Qéb c*%,kand / \3&1 / /\x 2%

eles. trapezoid

3"] If the diagonals of a parallelogram are perpendmuler then the 5\" }:O&S@

" parallelogram is a rectangle.

Bonus In parallelogram ABCD, AB = 2x - 7,BC =% + 3y, B:

CD=x+y,and AD = 2x —y — 1. Find x and y.




NAME ' - ___DATE——____ _ PEROD ____

Chapter 10 T‘est, Form 1 ~ soome

Wnte the letter for the correct answer in the blank at the right of each

auestion.. ; ‘ T
For Questions 1-3, use 00. , | 5 ' |
1. Name a diameter. - A 1. B
AR B TR
| C.AB . | D.CE : >=F
2. Name a chord. ’ ' ‘ _ o 2, '
A FO B.AB  C4B D.CE
3. Name a secant. ‘ ' . - 3.__
AFO B.AB - C.AB D.CE _
4 If the diameter of a circle is 10 mches find the mrcumference to the nearest 4,
hundredth.. , '
A 15. 71in. B. 31.42 in. C. 62.83 in, - D. 314.16 in.
5. If m/BAD = 110 in ©A, find mDE, ; BD 5.
A. 36 | © B.55 > <)
C.70 o - - D.110 ‘_‘—._CE |
6. Points X and ¥ lie on ©OP so that PX = 5 meters and m /£ XPY —. 90. Find the 6.

length of XY to the nearest hundredth,
A 393 m . B.785m C. 15671 m D. 1963 m

7. Chords XY and WV are equidistant from the center of OO XY = 2x + 30 7.
and WV = 5x —12, find x Y : ‘

| A. 58 . 'B.28 . Cu . D6 _
- 8 Find the radius of ©0 if DE = 12 inches and DE 8. |
o - bisects OF, . 5 : -
7 CA 2V3in B. 6 in, e “ _ o
| - C.8in, | o D.4V3 in, F—E | |
9. Find x. - o o U
A2 . Be1 .122'
S C.58 o o D.2g ' , \ _
10. EFGH is a quadmlateral inscribed in OP with m/E = 72 and m/F = 49, 10, . .
' ‘FindmsH, ' o : '
A 131 B. 108 G990 - DisT
11.If AB is tangent to ©OC at A, find BC o : B 11,
A. 6in. , . B. 4V3in.

- C. 12V3 in, . | - D.24in,

© Glencos/McGraw-Hill . 591 - Glencoe Geometry




VPR, OR, RS, and SP are tangent to ©X. Find RS,

20, Find the equation of P,

NAME DATE

Chapter 10 TéSt, Form 1 (continued)

A 9in.. , B.12in.
€. 134n. ' D. canriot tel]

13. ®A has its center at A3, 2), and ‘Efé’ is tangent to OA at B(6,.4). Find the
slope of CB. ’ .

‘ R 1 a3 e 1
<AA.1_‘ B.z o c 5 D. -5
14. Find «, -‘ o
A T8 i B. 90
- C. 102 o , - D. 156
15. Find y. | |
A6 - B.57
C. 45 N D. 21
16. Findz. o L . -
A 2 S - B.45 %
C.7 , - D.8 : ‘
17. Find z,
A4 o B. 16

C. 22 . D2

18. Find the cenfer of the circle whose equation is (x + 1%+ (y — 72 = 121‘.‘
A, (-—-11; 7) B. (11, -7 C. (121, 49 D 11

19. Find the-eq_uation of a circle whose. center is at (2, 3) and radius is 6.
AG+22+(y+32=5 B-.(x—'2)2+(y—3)2=6’
C.le+ 2%+ (y + 32 =236 D.(x— 22+ (y - 3)2 = 3¢

S APS LG grog L B.a?+(y-382=9
G824 y2ig Dx~32+42 =4

PERIOD __

12,

13.

14..

15..

186.

17..

18.

19.:




21 If DE, EF, and FD are tangent to ©A, find EF.

CAL9f - B.8ft
C. 71t D.gft

. PQ, QRR, RS, and §P are tangent to ©X. Find RS.

A 9in. B. 12 in,

C.13in. _ ' ‘ D. cannot tell

CIf AB i8 tangent to OF at B find m- 1.

A 43 B. 86

" C. 137 D. 274

A

2.

21

28.

.

. Find m/PQR if @P and QF are tangent to OX,

AL 70 . B. 110
C. 125 ' D. 140
. Find z. _ . :
AL | | B.5
: ' : . 35
. C.9 : D, =
| - 3
Find y. ) -
AT B. 2
' 59 : , 288 -
C % | T
Find x. oo ' :
A, 78 ' _ B. 90
C. 102 | ' D. 156
Find y.
A. 68 ' B. 57
C. 45 - D21
Find =z, - .
A9 o B. 45

C.7 D. 8

CATE

Chapter 10 Test, Form 1 (continued)

9]

0

PERIOD ___

21.

22.

23.

24,

5.

26.

.
8.

29,



NAME

DATE

Chapter 10 Test, Form 1 lcontinued)

FERIOCD .

0. Find x.

A4 , -B. 16

C.22 . o - D.32

| 3t. Find the center of the circie whose. equation is (x + 11)2 + (y ~ 72 = 191,

CAL(-11,T) CB. (11, —7) - G121, 49) D. 11
32 Find the equation of a circle whose center is at (2,3) and radms 18 6. ‘ 37 ‘
A@+2P+ (y+32=5 o B a-22+(y-32=¢ [ ——
Cl+22+(y+32=38 . Dol =224 (y-32=36 |
23 Find the eQuAatioln of QP.. S B a VT ] 33,
AP+ (y-3P=yg  Bxtr(y-32=2 AT
Colw —3)2+42=2 R N W e
T i
|_{OQ X

- 3Y. Find the equatmn of a circle Whose center is at ( l 5) and raﬂius is 8..

Al —12+4+(y+52=8 DB~ 12 4 (y 50 =
Cle+1P+(y-52=5 '.D(xT1)2+<y—5>2-64
A5. Find the eqﬁation of ©OP. RNERE V] _
. o v — e LT TN , ‘
A.(xl+-4).+(y—2) =3 }_‘/ ‘ AN 35 .
B.(x + 4)2+ (y~2)2= oL l\P J;,_' } ; C——
Clo—d¥+(y+22=3 " H\'fﬁi /! -
D("’_@zHyJ’z)gﬁg' T
Extra Credit |
- (©Ahas 1ts center at A(B 2), and CB is tangent to ©4 at B(6 4) Find the
slope of CB. Show NDY‘\( . .
1 _'__' _1 -
- a: ‘Explain the chfference betvveen the leng'th of an .arc and the Imeasure of
' ‘an arc. ‘ ‘
b. Is it possible for two arcs to have the Same measure but not the same .



NAME Kﬁfi DATE . PERIOD ___
O T P
Chapter 10 Test, Form 1 /f SCORE

A
S

i

Write the letter for the correct answer in the blank at the right of each
question. ' ‘

For Questions 1-3, use ©O0. : . ‘ 8 _ o Q
1. N diameter. ' | AL ' .
ame a diameter. _ 7 _ - G LT
ARG . B. AR w
C.AB ‘ | D.CE -

¢ E

2. Name a chord. ' . 2, jSL
AFO _ B.AB C. AB D.CE
3. Name a secant, | - 8. _Q_
A FO B. AB C.AB D.CE |
- 4. If the diameter of a circle is 10 inches, find the circumference to the nearest 4, l )
hundredth. ' : _ ‘
A. 15.71 in. B. 31.42 in. C. 62.83in. D. 314.16 in. .
o4y A8 B. 55 "
D C. 70 | D110 o Ok

. \'5 g 6. Points X and Y lie on OP so that PX = 5 meters and m < XPY = 90. Find the 6. E" D
o length of XY to the nearest hundredth, “ fB{LO > Jay f) :
A 398m _ B.785m C.1571m D. 1963 m

7. Chords XY and WV are equidistant from the center of ©O.IfXY = 2x + 30 T e E
and WV = 5x — 12, find . _ . ' 2 ey e £
A. 58 B.28 - C. 14 D.g <M ﬂif}g’ “:?’“ e n

. . I _ s pecB

8. Find the radius of @0 if DE = 19 inches and DE 8. _L/° wn

" bisects OF. : D : <

A 2V3in "B.6in. 24 |F = U2
C. 8in. - . D.4V3in. F—E Al

9. Find x. - | | S o uexg, D
Al 122 o " B.g1 o 12'2 e

- Cs8 . D.29 4 -

10. E\F/(}F)T 18 a quadrilateral inscribed in OPwith m/E = 72 and m4F = 49, 10, _pf;
Find'm.H. o . _ o .
A 131 - B.108 C. 90 D. 57 - o

11. If AB is tangent to OC at A, find BC. . B 11;@ '
A. 6 in. _ : B. 4V3 in. : : ,

C.12V3 in, S D. 24 in.

© Glencoe/McGraw-Hill 591 Glencoe Geometry
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NAME

DATE

FERIOD __

12. PQ, QR RS a.nd SP are tangent to
A. 91in.
C.13in.

)

13. ©A has its its center at A(3 2) and CB is tangent to ©A at B(8,.4). Fmd the

slope of CB. .
E Al | B. )
14.Findz, A

- A 78 '

- C. 102

15. Find y-. ‘.
A 66
C. 45

16. Find 2z,
A 2
C.7

17, Find x,
A4
C. 22

18. Find the center of the cirele whose e
A (11,7 B. (11 ~7)

19. Find the- ‘equation of a circle whose center is at (2, 8) and radius is 6.

A.(x+2)2+(y+3)2-6
C‘(x+2)2+(y+3)2236

20. Find the e'quation of OFP.
A+ (y-32=4 '

Chapter 10 TESt FOI' m I {continued)

©X. Find RS,
B. 12 in.
D. cannot teil

B. 57
D. 21

B. 45
D. 8

u!a

quation is (x + 11)2 + (y -~ T2 =191 £
C. (121, 49) D. 11 =%

Bo(x—2P+(y-32=56
D.(x— 2% + (y - 3)2 = 35

B. x2 +V(y - 3)2 =2
D. (x -3 +y2=y




 NAME | DATE

Chapter i0 TESt, Form 1 fcontinued)

PERIQD

21 If DE EF, and FD are tangent to @A, find EF.
A9t | . B.8ft
C. 71t ' D.6 1t

22. PQ, QR, RS and SP are tangent to @X Find RS.
. A, 9in, ) B. 12 in,

C. 13.in. - . ' ‘D, cannot tel]

23 If AB is tangent to QP at B find mLl.

o A4 | . B.8
C. 137 ' D. 274
- 24, Find m/PQR if QF and GF are tangent to OX o A N
‘A, 70 . B. 110 B 4. H
C. 125 ' : D. 140 P '
250°
_Find x. . D)
25 = o 25, 1)
A2 B.5 o ,
: ] L 35
| C. 9 R | D. 2
2. Find y. - 260,
AT B. £
c 22 = : p 28 — S
| S I o o 27, B
© 91. Find x. , _ . ?
- A T78 _ B. 80 . a4°
C. 102 | D. 156 - 1% '
28. Find y. _
A 66 o ‘B. 57
C. 45 ' : . - D. 21 —
| 79 \ )i
. 99. Find 2.

A2 - | B. 45 ' m
C.7 : D. 8 : ‘




NAME\ PATE____ pemion
19 Chapter 10 Test, Form 1 icontinuey)

Ad ' ’ B. 16 ‘
C. 22 o - D.32
| 3l. Find the center of the circie whose equation is (x + 11)2 + (y — 7)2 =121, 31.7 _,_ﬁ___
A(-1L T B. (ll —7) - C.121,49) D.11
32. Find the equation of a circle whose center is at (2, 3) and radius is 6. ‘ 39 D
A+22+ (y+ 22 . Bx-2%4(y-32=4¢ e
C. (x+2)2_ﬂ-(y+3)2=36 - Dol =224 (y - 32 =38 o
33. Find the equation of 0P, B TP 33, H
o ARSG-aR=g T RBa2L(y Jgpag At
C.(x—3)2+y2=2 o Dile =32 442 =4 \ | / ;
‘ : : N LT
' L P
0y i | X
. ‘31.| Find the equatmn of a 01rcle Whose center is at { l 5 ) and radius is 8., © L E;)
Ar-12+(y+52=8 -_'B(ou—l)ZJ-(y+5)2—64
Cla+1R+(y~50=8 D12y -2 =6
35, Find the equation of P, . i [T 7
Ale+ 4+ (y 22 =3 _ ;//T \T\\
B.lr + 4+ (y-22=9 A *_l
Cloa—P+(y+22=3"" ! ii:\['i 7
D.c 42+ (y+22=9 N o
S | N L] t ]
Extra Credit |
%%i} ‘©Ahas 1ts center at A(3, 2), and C’B is tangent to @A at B( 6, 4). Find the
~ slope of CB. Show NDFK L | | :
1 S 30 7 1.
A, 1 ‘ . B.'E - | i\\(j\ ) (_j, D. o
o/ Z’ia. Explam the d1fference between the length of an arc and the measure of |
an arc, ‘ ‘
.i; 23 b Is it possible for two ares to have the same measure but not the same | .

length? Explain your answer.




Write the letter for the correct answer in the blank at the right of each
question.

NAME DATE _. ______ PERIOD

Chapter 11 Test, Form 1 SCORE

1. Find the area of parallelogram ABCD to , A 125t B 1
the nearest tenth. :
A, 17.5 ft? B. 31.25 fi? £ N <
C. 35 ft2 D. 62.5 fi?

2. Find the area of paraﬂélogram WXYZ to L] Y 2,
the nearest tenth.

A. 27 in? B. 45 in?
]
C. 63.6 in? D. 81 in? W =sm <

3. What is the best classification of quadrilateral PQRS with vertices P(2, 2), 3.
Q(—1,2), R(—1, —3), and S(2, —3)?

A. square B rectangle
C. parallelogram D. none of these

4, Find the area of quadrllateral DEFG. | 4.
A. 154 cm? B. 218 cm? "
C. 244 cm? D. 308 cm?

- . .13- cm i

5. Find the area of trapezoid ABCD with vertices A(l —2), B(5, —2), C(4, 4), 5.
and D(1, 4. Draw o picture.to help. -
A. 6.5 units? B. 14 u.nlts2
C. 21 units? " D. 36 units?

6. Find the area of rhombus ABCD with vertices A(—1, 3), B(3, 0), C(—1, — 6.
and D(-5, 0). Drowd @ Pickure to heip.

A. 8 units? B. 24 units?
C. 26 units? D. 32 units?

7. Flnd the area of a regular octagon with a perimeter of 96 centimeters.

A. about 695.3 cm?2 B. about 576 cm? U3e ‘tancent 1o ‘ri’\d
C. about 288 cm? D. about 119.3 em? ‘e Qt}OJ‘J"“Qm'

8. Find the area of an. equllateral triangle with a side length of 14 inches. *\M 8._
A. about 12.1 in2 B. about 42 in2  OYOW QL p‘c’a &’3 a0
C. about 84.9 in? D. about 254.6 in? then use 30

_ rules 4o firnd

9. Find the area of a circle with a circumference of 207. He he‘3h+‘ 9.__
A, 400+ B. 314n
C. 2007 : D. 100w

@& (2lammne /A AA e LA oA+ S~




10. Find the area of the shaded region to the
nearest tenth.

A. 28.5 mm?
C. 66.3 mm?

11. Find the area of the figure to the nearest tenth
- B.28.3 2

A. 234 ft2
C. 29.7 ft2

B. 53.5 mm?2
D. 72.3 mm?2

D. 36 ft*

12. Find the area of the figure.
A. 22 units?
B. 20 units?
C. 18 units?
D. 16 units?

13. Find the probability that a point on the
grid selected at random lies in the shaded region.

A. 0.46
B. 0.50
C. 0.55
D. 0.85

14. Find the probability that a point selected
at random Hes in the shaded sector.

A 0.50 B. 0.33
C. 0.17 D. 0.08

. H5°
<5
o Li Sc.

¥
K(Z,5) L{6, 5)
A0, 3}
N2, 1) | M(B, 1)
C

15.

10.

11.

12.

13.

14.

15. A children’s game is won by tossing &

coin so that it lands on the white part

of this board. If one coin is tossed,

" what is the probability of winning?

\6. Rhombus ABCD has an area of 264 Bquare units.
If DB = 12 units, find AC.

A. 44 units
C. 18 units

B. 22 ynits

D. 12 gnits -

16.



| |7. Find the area of a regular hexagon with side length of 10 centimeters. Round | 7.

to the nearest tenth. Uge 30~ (cO-G0O -h-iarg\e . LL\(‘?S JIO Q V‘O‘ ‘i‘he apoﬂ'\em,

A. 129.9 cm? . B. 150 ¢
C. 259.8 cm? ' D. 519.6 cm®
18, Find the probability that a point selected at x - \8.____D._
random lies in the shaded region. T
A. about 0.92 B. about 0.75
C. about 0.55 . D. about 0.46

19. Find the probability of the spinner landing on red.

o 20. What is the area of the red sector if the radius is 9cm?

21. Find the probability of the spinner landing on blue.

22. What is the area of the blue éector if the radius is 9cm?

23. Find the probability of the spinner Iaﬁding the shaded region.

2

o

. What is the area of the shaded regions.

Q_H Matcl:; each area formula from the first column with the corresponding polygon in the
* second column.

Q. A={w i. triangle

h A= -;—dldz ii. parallelogram
C.A=s% : ' fii. trapezoid

d. A =1he, +8,) " iv. rhombus
e.A= —;—bh V. square

L A=0bh . L vi. rectangle

e —— ———




| 7/
NAME P\P\'f DATE_________ PERIOD

Chapter 11 Test, Form 1 SCOHE/}‘{

Write the letter for the correct answer in the blank at the right of each
question.

1. Find the area of parallelogram ABCD to
the nearest tenth.

A. 17.5 2 B. 31.25 fi2
C. 35 ft? D. 62.5 ft2

2. Find the area of parallelogram WXYZ to
the nearest tenth.

A, 27 in? B. 45 in2
C. 63.6 in? | D. 81 in?
8. What is the best classification of quadrilateral PQRS with vertices P(2 2) 3. &_
Q(—1,2), R(—1, —3), and S(2, —3)?
A. square : B. rectangle
C. parallelogram D. none of thegg -
4. Find the area of quadrilateral DEFG. 4. ﬁ
A. 154 ¢m? B. 218 cm?
C. 244 cm? ' D. 308 cm?
S S—T e —
5. Find the area of trapezoid ABCD with vertices A(1, —2), B(5, ~2), C(4, 4), | 5___@4_

and D(1, 4). ,, % r—\
A. 6.5 units? —,I—) u {fo% *LD B. 14 units? \ |\

C. 21 units? e D. 36 units?
1
6. Find the area of rhombus ABCD w1th vertices A(—1, 3), B(3, 0) C( —-3), 6. _@

and D(-5, 0). .
A. 8 units? L  B. 24 units?
C. 26 units? PRPR D. 32 units?

#7°Find the area of a regular octagon with a perimeter of 96 centimeters. %MB__
A. about 695.3 cm? tan225= 5  B. about 576 cm? '
C. about 288 em? | D. about 119.3 cm?

| 7 (A61.5)
#87TFind the area of an eqmlateral triangle with a side length of 14 inches. 8. L_m

B. about 42 in?
D. about 254.6 in?

A. about 12.1 in2
C. about 84.9 in?

9. Find the area of a circle Witﬂ a circumference of 20m. A=70) 9, _D_
s A. 400w B. 314w =10
C. 20047 D. 100w

® Glanena/MarSraw-Hill R41 (Rlannna (Sanmatry




“10.Find the area of the shaded region to the

nearest tenth. -
A. 28.5 mm? B.535mm? SR (5@1
C. 66.3 mm? D. 72.3 mm?2

11. Find the area of the figure to the nearest tenth.

A. 234 ft2 - B. 28.3 ft? L
C. 29.7 ft2 D. 36 ft2 o5

12. Find the area of the figure.

A. 22 units?
B. 20 units?
C. 18 units?
D. 16 units?

13. Find the probability that a point on the

grid selected at random lies in the shaded region.
A. 0.46

B. 0.50

C. 0.55 : -

D. 0.85 0

21
5

14. Find the probability that a point selected
at random lies in the shaded sector.

A. 0.50 ]%’. 0.33
C. 0.17 D. 0.08

..... #157Find the area of the shaded segments
bout 15.3 units?
A. abou 3 units Q\"QOL O‘? A q

B. about 7.6 units?
C. about 3.8 units?

D. about 3.1 units? 1=, 57 {Z.Cﬂ‘—\'

5T = o
\6 Rhombus ABCD has an area of 264 Squa.re units.

If DB = 12 units, find AC.

A. 44 units B. 22 units
C. 18 units D. 12 units -

14. £L




/ 7.Find the area of a regular hexagon with’ 51de length Df 10 centimeters, Round  |7. Q y,
: to the nearest tenth. Whem 5\\ 3

A. 129.9 cm? "B. 150 cm?
C. 259.8 cm? : D. 519.6 cm? e/

5
#48:Find the area of a nonagon with.a perlmeter of 126 inches. Round to the 18. ! )
9 nearest tenth o PO_\'th - \C\ 23
; A. 1289.4in? ' B. 12116 in?
C. 466.2 in? D. 157.5 in2
{9 Find the probability that a point selected at
random lies in the shaded region.
A. about 0.92 B. about 0.75
C. about 0.55 D. about 0.46
4o
|CO

Match each area formula from the first column with the corresponding pblygon in the
second column,

\/f 10, A= {w 7 1. triangle
:\: g 2L A= 1d 1@ ’ ii. parallelogram
\} 79, A=g% iil. trapezoid

‘| % 23 A= h(b + by) -iv. thombus

: \ j_\ A = Ebh V. square

T_Qb A = bh _ vi. rectangle



NAME - . DATE PERIOD

Chapter 12 Test, Form 2A ) scoRe

Write the letter for the correct answer in the blank at the rlght of each

gquestion.
1. What do the dark segments represent in an orthogonal drawing? . L \ 2
A a change in color ‘ B. where paper should be folded ‘
C. a design on the surface D. a break in the surface

For Questions 2 and 8, use the figure.

2. Identify the figure.
A. pyramid : B. prism
C. cone ‘ , D. cylinder

3. Name the base. : ' 3. E :
AX B.Y. C. XY D. OY

4. What name is_' given to a prism having five faces? 4, Qg
A. pentagonal prism B. square prism
C. triangular prism D. none of these

5. This net could be folded intoa __?
A. cone B. cylinder
C. sphere D. triangular prism

6. Find the surface area of the solid. 6.
A, 188 fi2 _ B. 240 ft?
C. 288 f2 D. 480 ft2
104
7. The lateral area of a cube is 36 square inches. How long is each edge? 7. El A
A V6 in. B. 3in. C. 6 in. D. 9 in,
8. The lateral area of a prism is 56 square inches and the area of each base is 8. &
17 square inches. Find the surface area of the prism.
A. 952 in? B. 90 in? C. 73 in? D. 22 in?

9. Find the surface area of the outside of the open box.

A. 1920 in? . B. 998 in?
C.752in2. - . D. 400 in2 S
: m 20in,
10. The surface area of a right eylinder is 20017 square centlmeters and the 10. Q
radius is 4 centimeters. Find the height.
A 42cm B. 25 cm C.23 cm  D.2lcem

© Glencoe/McGraw-Hill | 7 705 Glencoe Geometry
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"NAME DATE

Chapter 12 Test, Form 2A fcontinued)

For Questions 11 and 12, use a right eylinder with a radius of 8 inches
and a height of 17 inches. Round to the nearest tenth.

11. Find the lateral area. _ 11. Qf
_ A. 3204 in? B.348.7in? C.877.0in®* - D.5372in% . -
. 12. Find the surface ares, S ' L 12 C.z
A. 3204 in? B. 348.7 in® C. 8377.0 in® D. 537.2 in2
13. The lateral area of a regular pentagonal pyramid is 75 square inches and the 13. D

slant hetght is 10 inches. Find the length of each side of the base.
. A, 151n. B. 14 in. C. 75 in. D. 3 in.

For Questions 14 and 15, use the figure.

14. Find the lateral area.
A. 144 cm? _ - B. 144 + 24V3 cm?

C. 196 cm? ' D. 288 em?

15 Find the surface area.
A 144 cm? B. 144 + 24V3 em?  C. 196 cm?

For Questions 16 and 17, use the figure.
. Round to the nearest tenth.

“2716. Find the lateral area.

A 44,0 in2 B. 75.4 in?" C. 88.0 in? D. 100.5 in?

17. Find the surface area. 17, C/
A. 44.0 in? B. 75.4 in? C. 88.0 in? D. 100.5 in?

18. Find the surface area of this model rocket em 18. E )
to the nearest tenth. 10 om RS

A. 2890.3 cm? B. 2576.1 ecm?
C. 2513.3-cm? D. 2261.9 ¢cm?

For Questions 19 and 20, use the figure.

19. Identify a chord.
A EF B. OB C.BD - D.AD

20. Find the surface arez to the nearest tenth,
A. 4536.5 m? B. 2268.2 m? C. 4775 m? D. 238.8 m?




bases hemisphere
_ perspective view
cone | * Platonic Solids
i  prism
c_y}i_nder , pyramid

right cone ﬁ’

right cyiinder

slant height ,
sphere , i
surface ares ' ' "

|

Choose from the terms above to coniplete each sentence.

3.1- The height of each lateral face of & regular pyramid is called
amn) __?__ .

a 2. A(n)

23. A(n) is a set of points in space that are a given
dlstance from a gy&en point,

has a circular base and a vertex,

24. The view of a solid figure ﬁ'om the corner is.called a corner
view or _._.?_'.

25. The five types.of regular polyhedra are called the _

26. A(n)
' called bases

is a polyhedron with two parsliel congruent faces

27. A polyhedron. that has all but one face intersecting at one
. point is a(n)

28.The _ ? _ isthe sum of the areas of all the faces of the solid.

29, Ifthe axis of a cylinder is also the altitude, then the cylinder
is called a(n) __ 7

=10. A sphere is separated by a great circle 1111{0 two congruent
halves, each called a(n) __?

1 Slant heght
i

22._ CONE,
23._5@?“@?@

24. PersECh v View

2. j}\a‘%@ N %‘;ﬁ)\ﬁg
28. 'X‘B\(\\SW\

27.__Duram ‘\C:\>
{ \J .

28._Surtoce Do
29, '] 3ﬁ cul uﬁe

\ﬂ@ m %*::{3%\@’%




5. This net could be folded into a ___?

6. Find the surface area of the solid.

Chapter 12 Test, Form 2A

‘Write the letter for the correct answer in the blank at the right of each
question.

1. What do the dark segments represent in an orthogonal drawing? .

A a chahge- in color B. where paper should be folded
C. a design on the surface D. a break in the surface
For Questions 2 and 8, use the figure. . X
2. Identify the figure. :
A. pyramid B. prism
C. cone _ D. cylinder

3. Name the base.

AX B.Y C.XY b. oY
4. What name is given to a prism having five faces?

A, pentagonal prism B. square prism

C. triangular prism D. none of these

A. cone B. cylinder
C. sphere D. triangular prism

A, 188 ft2 B. 240 ft?
C. 288 ft? D. 480 ft2

104

7. The lateral area of a cube is 36 square inches, How long is each edge?

A. V6 in. B. 3in. C. 6 in. D. 9 in.

8. The lateral area of a prism is 56 square inches and the area of each base is _

17 square inches. Find the surface area of the prism.
A, 952 in? B. 90 in® C. 73 in? D. 22 in?

9. Find the surface area of the outside of the open box.
A. 1920 in? ‘ B. 998 in?
C. 752-in? B | D. 400 in?

20 In.

10. The surface area of a right cylinder is 20.017 square centimeters and the

radius is 4 centimeters. Find the height.
A 42 cm B. 25 em C.23 cm D. 21 cm

NAME , DATE FERIOD

SCORE

0.
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Chapter 12 Test, Form 2A (continued)

:“’For Questions 11 and 12, use a right cylinder with a radius of 3 iﬁChes
and a height of 17 inches. Round to the nearest tenth.
11. Fingd the lateral area. ' : ,
" A 320.4 in? B. 348.7 in? C.377.0in2 D.537.2in?
12. Find the surface area. ' -
A. 320.4 in? B. 348.7 in? C. 877.0 in? D, 537.2 in2
13. The lateral area of a regular pentagonal pyramid is 75 square inches and the

slant height ig 10 inches. Find the length of each side of the base.
. A 15in. B. 14 in. C. 75 in. D. 3 in.

For Questions 14 and 15, use the figure.
14. Find the lateral area.,

A 144 cm?® E B. 144 + 24V3 cm?
C. 196 cm? D. 288 cm?

15 Find the surface area.
A. 144 cm? B. 144 + 24V3 em?  C. 196 cm?

For Questions 16 and 17, use the figure.
- Round to the nearest tenth,

- 16. Find the lateral area. _
A. 44,0 in? B. 75.4 in% . BR.0 in? D. 100.5 in®

2in.

17. Find the surface area.
A, 440 in? B. 75.4 in? C. 88.0 in? D. 100.5 in?
18. Find the surface area of this model rocket
to the nearest tenth.
A. 2890.3 cm? B. 2576.1 cm?
C. 2513.3 cm? D. 2261.9 cm?

For Questions 19 and 20, use the figure.

19. Identify a chord.
A EF B. ©B C.BD

20, Find the surface area to the nearest tenth.
A. 4536.5 m? B. 2268.2 m? C. 477.5 m? D. 238.8 m?

| NAME DATE_____ _  PERIOD

e

2.

18.

14.

15,

16

17.




bases

cone

cylinder

L

hemisphers

perspective view

Platenic Solids

© prism
pyrarnid

right cone
right cylinder

siant height
sphere
surface area

Choose from the terms above to coniplete each sentence.

A.1. The height of each lateral face of & -
5

a(n)

egular pyramid is called

2. An) has a cirenlar base and a vertex.
23. Aln) 15 a set of points in space that are a given
dist

ance from a g'7yen point.

24. The view of a sohd figure from the corner is called a corner
view or .___‘7_

25. The five types.of regular polyhedra are called the =
' 26. A(n)

called bases,

is a polyhedron with two parsliel cdﬁgruent faces

27, A polyhedron. that has all but one face intersecting at one

. point is a(n)

2.8. The

1s the sum of the areas of all the faces of the solid.

29. If the axis of a cylinder is also the altitude, then the cylinder

ig called a(n)

=10. A sphere is separated by a great circle mifo two congruent

halves, each called a(n)

Bonus Find the amount of glass needed

to cover the sides of the
greenhouse shown. The bottom,
front, and back are not glass.

Z1.

22,

23.

24. _

25.

28.

27.

28.

29.

3o0.
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Chapter 13 Test

Write the letter for the correct answer in the blank at the right of each

question.
1. How many cubic feet are in one cubic yard? 1.
A. 3 B.9 C. 27 D. 81
2. The surface area of a cube is 96 square feet. Find the volume. ' 2.

A 418 B. 16 ft? C. 64 ft3 D. 256 ft8

3. A cylinder whose height is 5 meters has a volume of 320w cubic meters. Find 3.
the radius of the cylinder.

A 8m B.12.8m C.64m D. 201 m

4. A cylinder has a 10-inch diameter and an 11-inch height. Find the volume to 4.
the nearest tenth.

A, 172 8 in? "B. 345.6 in3 C. 863.9 in? D. 3455.8 in®
5 A square pyramid has a he1ght that is 8 centimeters long and a base Wlth 5. -
sides that are each 9 centimeters long. Find the volume. - '
A, 648 cm?® B. 324 cm? C. 216 cm? D. 162 cm?
6. Find the volume to the nearest tenth. 6.
® A. 80.0 ft3 B. 78.4 fi?
C. 48.0 ft3 D. 39.2 ft?
7. The volume of a cone is 1080w cubic centimeters and the radius is 18 _ T
centimeters. Find the height, ’
A. 5 cni " B.10cm C.20ecm - D.30cm
8. Find the volume to the nearest tenth. ' _ 8.
A. 3619.1 m3 B. 4825.5 m®  24m
C. 14,476.5 m? D. 43,429.4 m3 %
9. A sphere has a 21-inch radius. Find the volume to the nearest tenth, 9.
A. 3879248  B.19,3962in3  C.5541.8 in® D. 1847.3 in®
10. A sphere has a volume that is 9727 cubic inches. Find the radius. ‘ 10.
A. 2 in, B. 3in. C. 61in. D. 9in.

11. A sphere has a 6-inch radius. A cone has a 12-inch height and base with a 11.
6-inch radius. Compare their volumes.

A. The volume of the sphere is greater.
@ B. The volume of the cone is greater.

C. The volumes are equal.

D. not encugh information

© Glencoe/McGraw-Hilt 755 Glencoe Geometry



12. A golf ball has a 3.8-centimeter diameter and a tennis ball has a 7-centimeter 12,
diameter. Find the difference between their volumes to the nearest tenth.

A. 1206.9 cm?® B. 220.5 cm® C. 150.9 cm? D. 17.2 cm?
13. Find the volume of the pyramid. 13.
A. 360 em?® B. 390 ¢cm?
C. 1080 cm? g D. 1170 cm?
14. Which solid has the greater volume? 4.
A. sphere B. cylinder
C. The volumes D. not enough
are equal. B information ‘
15. Which of the following could be the units of measure for the volume of a solid? 15,
A. cubic inches B. square inchegs  C. inches D. cubic seconds

16. A cone and a cylinder have the same radius and the same height. The volume 16,
of the cone is what fractlon of the volume of the cylinder?

A ~§ B. § C =

17. Find the volume to the nearest tenth. 17.
A. 1206.4 in® : B. 402.1 in®
C. 301.6 in3 D. 100.5 in®

18. Find the volume of a pyramid with a helght of 10 inches and a base with an 18,
area of 21 square inches.

A. 210 in® B. 105 in? C. 70 in® D. 35 in®

19, The area of the base of a prism is 96 square centimeters and the height is
" 9 centimeters. Find the volume.

A, 288 cm3 B. 864 ¢cm® C.932 cm® " D. 7776 cm?

19-

20. 6 volume of a cylinder is 62.8 cubic meters and the radius is 2 meters. Find 20.
the height to the nearest meter.

A 20m " B.10m C.8m D.5m

7\, A sphere has a radius that is 12 centimeters long. Find the volume to the N.
nearest tenth.,
A, 7238.2 cm?® B. 3619.1 cm?® C.1809.6 cm®  D.603.2 cm®

79, A sphere has a volume that is 367 cubic meters. Find the radius of the sphere. 77,
A 2m B.3m C.6m D.12m




Determine whether each sentence is true or false. If false,
replace the underlined word or formula to make a true
sentence. '

') 3, Congruent solids have the same shape but not the same size.

L}, Similar solids have the same shape and the same size.

25‘ Volume is the measure of the amount of space that a figure
encloses. ' : '

2(0 V = wr2h is the formula for the volume of a cone.

1. V = 4mr? is the formula for the volume of a sphere.

2% V = Bh is the formula for the volume of a prism.

zq V= %Bh is the formula for the volume of a pyramid.

2 ' .
30 V= m;, h is the formula for the volume of a cylinder.




Name K =Y . Dﬂe Seore

Chapter 13 Test

Write the letter for the correct answer in the blank at the right of each

question.
1. How many cubic feet are in one cubic yard? 1. _C;
A.3 B.9 C. 27 D. 81
2, The surface area of a cube is 96 square feet. Find the volume. ' 2, LL
A, 4 £t3 B. 16 ft3 C. 64 ft? D. 256 fi?

3. A cylinder whose height is 5 meters has a volume of 3207 cubic meters. Find 3.
the radius of the cylinder. '

A 8m B.12.8m C.64m D. 20l m

4. A cylinder has a 10-inch diameter and an 11-inch helght Find the volume to 4, ( /
the nearest tenth. .

A. 172, 8 in? - B. 345.6 in? C. 863.9 in? D. 3455.8 in® .
5. A square pyrarmd has a helght that is 8 centimeters long and a base w1th : 5. t«/
-sides that are each 9 centimeters long. Find the volume. - S
A. 648 cm? B. 324 ¢cm3 - C. 216 cm? D. 162 cm?
6.—Find the volume to the nearest tenth. b J 6. _ Q
A. 80.0 ft3 : ~ B.784ft3 :
C. 48,0 ft3 D. 39.2 ft3 ‘
- 4ty
7. The volume of a cone is 1080w cubic centimeters and the radius is 18 7. \w; )
centimeters. Find the height., : 7 ’
A.5cm B. 10 cm’ C.20cm = D.30cm _
8. Find the volume to the nearest tenth. 8. ’i‘%
A. 3619.1 m® B. 4825.5 m*®
C. 14,476.5 m® D. 43,429.4 m3
9. A sphere has a 21-inch radius. Find the volume to the nearest tenth. 9. @L
A, 38,792.4 in® B. 19,396.2 in® C. 5541.8 in® D. 1847.3 in® 7
10. A sphere has a volume that is 8721 cubic inches. Find the radius. ‘ 10.
A. 2in. B. 3 in. - C.6in. D. 9in.

11. A sphere has a 6-inch radius. A cone has a 12-inch height and base witha . 11. ﬁ
6-inch radius. Compare their volumes. .

A. The volume of the sphere is greater.
@ B. The volume of the cone is greater.

C. The volumes are equal.

D. not enough information
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~ 12. A golf ball has a 3.8-centimeter diameter and a tennis ball has a 7-centimeter 12. C’
diameter. Find the difference between their volumes to the nearest tenth.

A. 1206.9 cm?® B. 220.5 cm?® C. 150.9 cm?® D. 17.2 cm?

13. Find the volume of the pyramid. | 18. Q
A. 360 cm?® | B. 390 cm?®
C. 1080 cm? . D. 1170 cm3

10cm

14. Which solid has the greater volume?

A. sphere . B. cylinder
C. The volumes D. not enough
are equal. o _ information :
15. Which of the following could be the units of measure for the volume of a solid? 15, p[
A. cubic inches ‘B. square inches C. inches - D. cubic seconds

16. A cone and a cylinder have the same radius and the same height. The volume 16. [ )
of the cone 18 what fractmn of the volume of the cylinder?

A. = B. 3 C =

17. Fmd the volume to the nearest tenth. 17. _ D
A. 12064 in3 . B. 402.1 in3
C. 301.6 in® D. 100.5 in?

18. Find the volume of a pyramid with a hmght of 10 mches and a base with an 18, CJ
area of 21 square inches:;

A. 210 in® B. 105 in? C. 70 in? D. 35 in®
o The area of the base of a prism is 96 square centimeters and the height is ’P)
19. . ) - 19, !
9 centimeters. Find the volume. \
A. 288 cm® " B. 864 cm® C. 932 cm? D. 7776 cm3

20. The volume of a cylinder is 62.8 cubic meters and the radius is 2 meters. Fin
the height to the nearest meter.

A 20m " B.10m C.S.m D.5m

':)_\‘ A sphere has a radius that is 12 centimeters long Find the volume to the . )_\‘ Q
nearest tenth. ‘
A. 7238.2 cm?® B. 3619.1 cm3 C. 1809.6 cm®*  D. 603.2 cm?

79 A sphere has a volume that is 36w cubic meters. Find the radius of the sphere. )7, P‘g
A Z2m B.3m C.6m D.12m

S




Determine whether each sentence is frue or false. If false,
replace the underlined word or formula to make a true
sentence,

)3, Congruent solids have the same shape but not the same size. 22, F N N WWI\QF Sﬁ()‘i i&g

7L}, Similar solids have the same shape and the same size. y I cnarger + Sk fg
.
25 Volume is the measure of the amount of space that a figure 95, T‘f“ e,
encloses, | ‘
2(0 V = mr2h is the formula for the volume of a cone. %. ‘: V.‘,, ] -{;} Eﬂr
‘ Qf N= ’—’3 Bin
| i oyl
71 V = 4ar? is the formula for the volume of a sphere. 7. = \,\j -4 H 2
70, V.= Bhisthe formula for the volume of a prism. ' 8. Troe
Zq V_=%‘iis the formula for the volume of a prramid-.r Zq T{—b{@
3 | : -
G 20.V="5 V= TP i the formula for the volume of a cylinder. 0. Eg.p “\ f- ek

W \ﬁ = iﬁ{’ \



